3 (Sem-6) CSC

2019

COMPUTER SCIENCE
( General )

( Object-oriented Programming in C++ and
Computer Networks )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

PART—I

1. Answer the following as directed : 1x5=5
To7S A et Bew foran -

(@) OOP can be implemented withbut using
class.

( Write True or False )

1R SRZA OOP IR 3R 1R |
(o= @ s o )
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(2)

(b) Which feature of OOP illustrates the
code reusability?

OOPI (Wbl CAMER (@I R IJIF
@R?
(i) Polymorphism
(i) Abstraction
(iii) Encapsulation
(iv) Inheritance
( Choose the correct answer )

(o Teh! AR Tferean )

{0 Which of the following is not type of
a class?

o] (FICHI 9O classT Ok 7= ?
(i) Abstract class
(i) Main class
(i) Start class
(iv) String class
( Choose the correct answer )

(=% Bawh AR Sfvear )

(d) A class is passed in a method by .
( Fill in the blank )

@51 method® &b class I WA
sffdear =W |

(1R 372 =& 1 )
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(3)

(e} Derived class is also known as
( Fill in the blank )

Derived class 9l TS T 2 |
(R 3% °[ 341 )
2. Define the following : 2x4=8
Tere IR e o
(a) Class

(b) Encapsulét.ion
(¢) Friend function

(d) Inline function

3. Answer any three of the following questions :
' 5x3=15

wars fign epaRa R e fofRoR Te fora -
(a) What is Object'-oriented Programming?
State its benefits.
Object-oriented Programming & ? &WR™

benefitRF o4 |

(b) Explain the uses of constructor and
destructor.
Constructor 9§ destructor¥ JILTIER
forim
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(4)

(c) What are call-by-reference and
return-by-refernce?

Call-by-reference 153 return-by-
refernce &7

(d) What is ADT? Write the identity and
behaviours of an object.
ADT f? 461 object3 identity %
behaviour @[ for41 |

(e) Write the differences between C
and C++. '

C 9F C++3 TS N3 fomn |

4. Answer any two of the following questions :
10%x2=20
@eTe fan opiaR] R e o T o

(a) What is Operator Overloading? Overload
a binary operator using friend function.
Operator Overloading & =W? Friend
function 3IRZT IR, 9GB! binary operator
overload ¥41 |

(b) Discuss single inheritance with an
example.

@bt BHZIPR single inheritance I SETB]
F40
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(S)

(c) Write the difference between compile
time polymorphism and run-time
polymorphism.

Compile time polymorphism W&
run-time polymorphism3 &S ¥F
famm

(d) Describe different access specifiers used
in C++.

C++© IRY] A1 R®H access specifiers
IFMF

PART—II
5. Fill in the blanks : 1x3=3
1A I [T 0

(@) UDP stands for .
UDPJ W% a F° 24 .

(b) SMTP stands for .
SMTPT g 99 2’9 )

(c) TCP stands for .
TCP3 g 9 A .
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(6)

6. Define the following : : 2+2=4
ere TR s B
(a) HTTP
(b)) WWW )
7. Answer any three of the following questions :
5x3=15
oo fm e R e fRefbr Seg foran _
(@) What is Computer Network? State its
- uses.
Computer Network f? WR ITTRE@R
forat 1
(b) Discuss different types of Network
topology.
R 29”3 Network topoplogy AT
41|
(c) State the relationship of service to
protocol.

Serviced protocold 1S SER T T |

(d) Write the difference between connec-
tion-oriented and connectionless
services.

Connection-oriented W% connectionless

serviced T&e A1 &4l |

(e) Briefly explain different transmission
media used in computer network.

IR Bde IR @ ARA AR
TGS 5 A0 4 |
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-
)

(7))

8. Answer any one of the following questions : © 10

oo g oA R e @b e o -

(a) What are the layers in OSI reference
model? Describe each layer briefly.

OSI reference model3 layer @251 &7
ATORFCO! layer TS Feors 31 341 |

(b) Explain TCP/IP model.
TCP/IP modelTo! Il 341 |

* %k &
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